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ü Relational operators
> :	greater than
≥ :	greater than or equal to
< :	less than
≤ : less than or equal to
≪ : much less than
≫ : much greater than
∪ : union
∩ : intersection / intersect

Examples:
4 > 3 : four is greater than three
x ≥ z : x is greater than or equal to z
3 < 4 : three is less than four
z ≤ x : z is less than or equal to x
0 < x < 1 : x is greater than zero and less than 1
𝐴 ∪ B : A union B
𝐴 ∩ B : A intersect B
𝐴 ∩ 𝐵 ∪ C = (A ∪ 𝐵) ∩ (𝐴 ∪ 𝐶) : 
A intersect B union C is equal to A union B, intersect A union C or
The intersection of A and B union C equals the intersection of A union B and A union C.
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ü Basic symbols
∈ : belongs to/an element of / in
∉ : does not belong to/ not an  element of/ not in 
⊂ : contained in; a proper subset of
⊆ : contained in; subset
⊇:  a superset
⊃: a proper superset

Examples:
x ∈ A : x belongs to A; 

x is a member of A; 
x is an element of A

x∉ A : x does not belong to A; 
x is not a member of A;
x is not an element of A

𝐴 ⊂ 𝐵: A is contained in B; 
A is a proper subset of B

𝐴 ⊆ 𝐵: A is contained in B;
A is a subset of B
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∃ : there exists
∄ : there does not exist
∀ : for all
⊥ : perpendicular to
∥ : parallel to 
→: gives/ approaches
⇒: implies/ imply 
⇏: does not imply
⟺ : equivalent to
⇎ : not equivalent to

Examples:

𝑨𝑪 ⊥ 𝑨𝑩 : The line segment AB is perpendicular to the line segment AC or
The line segments AB  and AC are perpendicular.

𝑨 ⇒ 𝑩 : A implies B
𝑨⟺ 𝑩 : A is equivalent to B
𝑨 ⇎ 𝑩 : A is not equivalent to B
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( : left parenthesis (Open parenthesis )  (Open bracket)

) : right parenthesis (Close parenthesis ) (Close bracket)

( ... ) : Open parenthesis   …  close parenthesis  or … all in parenthesis

[ ] : left and right square brackets

{ } : curly brackets or braces

⟨ ⟩ : angle brackets

⟦ ⟧ : double brackets

∞ : infinity

% : percent

|x| : absolute value of x, modulus x

n! : n factorial; factorial n

Examples:
(x+y): Open parenthesis  x plus y close parenthesis

or x plus y all in parenthesis
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Exponent:

x2: x squared

x3: x cubed

x4: x to the fourth; x to the power of four

xn : x to the n; x to the nth, x to the power of n

x-n : x to the minus n; x to the power of minus n

bn is called "b raised to the nth power", "b (raised) to the power of n", "the nth power of b", 
"b to the nth power", or "b to the nth”

baseexponent=power
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Examples:

82 : "8 to the second power", or "8 squared”
45 : four to the power of five or four to the fifth power
510 : five to the tenth power or five to the power of ten

5x105 : five times ten to the fifth or five times ten to the fifth power

6.634x1015   : six point six three four times ten to the fifteenth

!!

""
: x squared over y to the power of four

!#

#$
: x cubed over twenty-one


